Class IX
Session 2013-14

Practice paper 

 

Linear Equation in two variables 



1. Draw the graph of the following equations
(i)x + y = 4
(ii) y = 2x 
(iii) 3x + 5y = 15
(iv) 2y = -x + 1
(v) x/2 – y/3 = 2.

2. Draw the graph of the equ. 2x + y = 6. Shade the region bounded by the graph and the coordinates axes.

3. Draw graphs the equations: 3x – 2y = 4 and x + y -3 = 0 in the same graph and find the coordinates of the point where two lines intersect.

4. Find the value of k, if x = 1, y = 1 is a solution of the equ. 2x + 3y = k.

5. If x = 2k – 1 and y = k is a solution of the equation 3x – 5y -7 = 0, find the values of k.

6. The cost of ball pen is Rs 5 less than half of the cost of fountain pen. Write this statement as a linear equation in two variables.

7. A three wheeler scooter charges Rs 15 for first km and RS 8 each for every subsequent km. For a distance of x km, an amount of Rs y is paid. Write the linear eq representing the above information and draw its graph.
Constructions

1. Construct a triangle ABC, having AB + AC = 8 cm, BC = 4 cm andے ACB= 900.

2. Construct a ∆ABC whose perimeter is 15 cm and the base angles are 500 and 700.

3. Construct a triangle ABCIn which BC = 4.5cm, ے B= 450 and AB – AC = 2.5cm.

4. Construct a triangle ABC, given that ےB = 450, ے C = 600 and AB + BC + CA = 12cm.

5. Construct a triangle ABCin which BC= 5.5 cm, AC-AB = 3.2 cm and ےABC = 450.

